CASBEE- & & (7 3)20144E R WEREMY=27/L: CASBEE-EZ(HE)20144E

(R#) Tpark T ELFE [ |memiErgastERA mERHEY TR CASBEE-BD_NC_2014(v.3.01)
EYek-XBEES FE-Eais
Q BEEYoEELE
Q1 ENERE 0.33 P 2.6
1 ERE 2.2 0.15 = 2.2
1.1 BE 3.0 0.40 =
12 EE 1.0 0.40 o
1 (FAOERES AR 1.0 0.70 s
2 |RELEEERE 1.0 0.30 5
3 |RREFMHEEEHER) - -
4 | RRETHEEEHER) - -
1.3 ®E 3.0 0.20 o
2 BRRE 2.6 0.35 = 2.6
2.1 ZEBHIHE 3.0 0.50 =
1 |=8 3.0 0.41 =
2 (S RMHEE 3.0 0.23 o
3 |V RIS 3.0 0.36 =
2.2 SREHH 1.0 0.20 s
2.3 ZZIRAK 3.0 0.30 =
3 J-REE 2.4 0.25 = 2.4
3.1 BxFIMA 2.1 0.38 =
1| B 1.0 0.42 o
2 |AfRIEEO - -
3 |BIAFIAEE 3.0 0.58 s
3.2 JL7x% 3.0 0.21 o
[ 1 [BEsm 3.0 1.00 -
3.3 EBE 1.0 0.10 =
3.4 MR 3.0 0.30 =
4 BSHEE 3.0 0.25 = 3.0
41 HRERXE 3.0 0.50 =
i LEEEME 3.0 1.00 =
42 #% 3.0 0.30 o
[E:T 3.0 0.38 o
2 |BABKIERE 3.0 0.24 =
3 [RYANNR~DERE 3.0 0.38 o
43 EREE 3.0 0.20 o
1 |CO,MER 3.0 0.50 =
2 |EE il 3.0 0.50 .
Q2 H—ERHRE = 0.30 5 e 2.6
1 #Eett 2.2 0.40 = 2.2
1.1 R - FEL TS 2.5 0.40 =
1 IRE- RSk 3.0 0.23 5
2 |EEERBESRERS 1.0 0.23 s
3 |/\UF7IY—&tE 3.0 0.53 =
1.2 DB -REY 2.0 0.30 =
1 |RSR-28 3.0 0.34 =
2 |UILyParRR—R 2.0 0.32 =
3 |REEE 1.0 0.34 =
1.3 #BFERE 2.0 0.30 =
[ [MBEEcREL R 2.0 0.50 B
S EERREDER 2.0 0.50 -
2 A {EEY 2.7 0.30 = 2.7
2.1 ME-2E 3.0 0.50 =
1 |mEE 3.0 0.80 s
2 |®RE-HlIRMERE 3.0 0.20 =
2.2 E& - EH D AEK 3.0 0.30 =
1| RAEME DM AER 3.0 0.20 5
2 [NEGEFHOBELERR 3.0 0.20 o
3 |FERELETFHOEHFHERR 3.0 0.10 =
4 | ZRBKE VOB FLERR 3.0 0.10 s
5 |ZE-fAHKEREEDEFLERR 3.0 0.20 =
6 | FEZHERFOEHLEMRE 3.0 0.20 .

1/2



24 55 1.6 0.20
1 |- Rk R 1.0 0.20
2 [#AHEK- B E 2.0 0.20
3 [EXEE 1.0 0.20
4 |[BW-EREXEAZ 3.0 0.20
5 |[EIE-1EHREE 1.0 0.20
3 bt - EEE 3.1 0.30
3.1 ZEDwEY 3.4 0.30
1 |BEEopLY 3.0 0.60
2 | ZEHomK-BES BERELEER0.19 4.0 0.40
3.2 REDWLY 3.0 0.30
3.3 RilEDEHM 3.0 0.40
1 | EREEDEHHE 3.0 0.20
2 |#HRHKEDEHM 3.0 0.20
3 |EXREHROEHME 3.0 0.10
4 |BIERROEHME 3.0 0.10
5 |EERBOEHME 3.0 0.20
6 [I\vITITIRR—RDER 3.0 0.20
Q3 =ESRS (B A) — 0.37
1 EpBEOEL LA 2.0 0.30
2 FHLH - RBE~NDER 2.0 0.40
3 HuigtE - FA=TA~DER 2.0 0.30
[ 3.1 gt~ nEE. REkORE 1.0 0.50
3.2 %&tmm,m%ar“or‘]: 3.0 0.50
R E3Y)0 [ 155 LW
LR1 TRJL¥— — 0.40
1 B o REFDH 1.0 0.06
2 BRIRILIX—FIA 3.0 0.12
3 B RTLOERE/L BEIm JEEE 078 € (FHE) 083 4.0 0.59
EREEUN DFEH(3a.3b) LEDIRBA N mZ iR A 4.0 1.00
& S EEDEHE(3C) =
4 HHEKER 3.0 0.23
£ E5EEUSNDFHE 3.0 1.00
41 |E=RYLY 3.0 0.50
42 |EBREEK 3.0 0.50
£S5 EEDHE -
[N E=1PZi
| 42 [EREEEKE -
LR2 ER-=TUT7IL = 0.30
1 KRERE 2.2 0.20
1.1 8K 1.0 0.40
1.2 EEUK%I A-#KkE0FA 3.0 0.60
MAFBARATLEADEHE 3.0 0.70
HIEKEFRRTLEAOEE 3.0 0.30
2 SFEEFEQJEQEFH!FNH 2.4 0.60
2.1 MEERAZEDHIR 2.0 0.10
22 BREERAEOREGHER 3.0 0.20
2.3 PFIAREICEITRIHAVILHDER |- 3.0 0.20
2.4 FBARMELSZEITDV AL DOER]|— 1.0 0.20
25 FGa gl SEHShI-K# 2.0 0.10
2.6 Eh#t D FEFI A AT BEME M £~ D EREE A 3.0 0.20
3 EEMHESEMH O AE R 3.0 0.20
3.1 EEYEEEFLLVMEOER 3.0 0.30
3.2 7O -,\a O [EE 3.0 0.70
1 [ExH - -
P ESEEICEEZED) 3.0 0.50
_ 3[4 3.0 0.50
LR3 2t M IR1E = 0.30
1 #BRBEC~DEE 51791451 Co2 Bk i Z2=85% 3.6 0.33
2 Mg BIE~DORE 2.8 0.33
2.1 xﬁsﬁ%mm 3.0 0.25
BRREELEORE 3.0 0.50
23 t&{ﬁ*{z??’\@ﬁﬁﬂﬂﬁﬂ 2.5 0.25
MKBEKBFER 3.0 0.25
2 FEK AL TR £ Tar 1 3.0 0.25
3 RE A FHD ] 3.0 0.25
BEZEY IR & T 1.0 0.25
3 Elﬂi!iﬁf\a)ﬁiﬁ 2.1 0.33
3.1 BE-R-EXDMHLE 3.0 0.40
1 [BE 3.0 1.00
2 |#REh - -
3 |ER - -
32 RE, WE, AREE DM 1.6 0.40
1 |BE DI 1.0 0.70
2 |REQINF =
3 |HREEDIH 3.0 0.30
3.3 ;'z?—(mfﬂﬁll 1.6 0.20
BARARVEARBEOSENIBIDEADR R 1.0 0.70
2 BADERYMNEICLDREHR (TLT)~DRE 3.0 0.30

2/2

3.1

2.0

2.0

2.0

2.0

3.4

3.0

4.0

3.0

2.4

2.4

3.0

2.8

2.8

2.1




